@ Kk B
2 E RN R A5 2 BERAE
He - LxMzE(—)

(B3 150 43 3 % 1l E] 120 4340

3
| J0

| | VPN | —GEEREARE 17 /NG E/NE S 4y, 38 85 4. FER/INELZ Y

P IR, A — TR A A E ZOR .

1'&@% U={1929394’5}9CUA :{2’3}7D1IJA ﬂ CUA j‘j

A.{2,3} B.{1,4,5}
C.{1,2,3,4,5} D.o

2. sina =sinB 2 a =B

A. FEAHER B &M B. L EHAR T4 54

C. Fe4r B 414 D. BEARFE 43 th R B 4 1

3. &ma%ﬂr =1 3t A (—2,/3), M AR R

A. 2.5 B. 24/3
C. 445 D. 443
4. REER |32 +1 | > S WRER
g iy
AJ<%3§I>§' Bx<3ﬁx>?
7 7
C.—3<x<§ D.3<x<?

5.8 (—1,—2) XTHZ x +y =0 XFREY SRR R

A (1,2 B. (2,1
— 119 —



C. (_25_1)

D.(*I,—Z)

6. RS () =log, (ax +b),f(2) =2,1(3) =3,

Ala=1,b=—4
C.a=4,b=3

B.a=2,b=—2

D.a =4,b=—4

7.0 1,2,3,4,5 RENECF  ABEA EEHTFH =080 R EEEtE

A. 24 4
C.40 4~

x

2

8
A'E

2
C‘?

9. T 51 e B H O £ bR KR 2
Ay =cos(z + 1)
C. y S8’

10. PP T, ABRZMET 4 HBERE

A —
11

5
C'é—é

x 1
i, e — — =, si =
sin 2 cos 2 3 N} sinz

B. 30 4>

D. 60 4~

w
H
©| oo

o
-
w| o

B.y=3"

D.y =sin’x

1
B. —
12

1
D. —
6

11.FHL I 235 P0,5 HS5H Q(—1,3) W KN 1, M EL [ 1R

A.y=x+5

C.yZ%I"_S

B.y=%x+5

D.y=—x+5

12. W4 v =ax(a < 0) B S FIELNMIEE 2

a
A.Z

a
C. Y

B.

ro| R

a
D.—?

13. H& 32 — 4y +9=0 5@ 2>+ y* + 2z =0 N B R R E

A. HE& LR L

B. H& 5 B E A B O

120 —



C. 1 D. #H#
4. 554 1220 +5y +3=0 FATHIE 2° +y° + 220 +2y —7T=0 WL T BER ( )
A. 12z +5y —56 =08 122 + 5y — 22 =0
B.12x +5y —56 =0 8% 12x 4+ 5y +22 =0
C.12z +5y +56 =08 122 +5y — 22 =0
D.12x +5y +56 =0 B 122 + 5y + 22 =0

15, WHRH f(2) =2* — 32,0 (1) = C
Al B. 2
C. —1 D. —2

16. .2 R = A Sty B9 iy B 3R 0.5, Ml fi14% B T3 — 0k, AR 4 Ml AT T80 B0 o 80 A 48 32 2
( )

A.0.125 B.0. 25
C.0.3 D.0.5
17. “ =M =T WA EBUFZH” —RYER—1WAR 607 ) «C
A, BN BE KA B. W EAH AR FE 7 M
C. REXM D. BEE 70 AR i 5 F

B’y | HBA | ZVRZE AKEI 4 NI B/NE 453 16 4. AR B E
L k.

18.MEa=4,3) 5b=(zx,—12) EAHEH,N » =

19. WERE f(x)=a"(a > 0,a = D,HE F(2) =9, f(%):

20. 7 ANABC #,E 514 A REifi,sinA :%,AB =5,AC =3, BC =

21.&1’1 :4sx2 :6’13 :8791\“#2&%‘%%

— 121 —



4 | EA
REH R 4N, 3E 49 5. NS R SO SR,

22. AR/NBH 4 12 4y
& ANABC #, B H (sinA + sinB + sinC) (sinA 4+ sinB — sinC) = 3sinA sinB
KiE:A + B =120°

— 122 —



23. A /N5 12 53
REWHI (a,) HETEEEREWHE a; +a, =2+5,a; —a, =a, . RIZEFI K@

AR,

— 123 —



24. A/ 4> 12 43
ERH— WG —EEEGERK 18Sm) , A= HEBER N, AEEBER 35m, BHEE KKK
F G R R K, BN ZE K7

— 124 —



25. A /NERE 4y 13 41

2 2
ﬁu@:ﬁ%lﬁl%+i—2=1(x>o) B S AE B, O NARARE S, P .Q KA A b A, i

# OP Fife H& A %% 1,0P | 0Q,% APOQ B@Efﬂ‘l’%ﬁ#bﬂﬁ%%@]%%ﬂﬁ.

»

N

— 125 —



BerCrmaR) 2EENRE(—) SE5ER

~

1.D 2.B 3.D 4. A 5.B 6.D 7. A 8. A 9.D
10. B 11.B 12.D 13.D 14.D 15.C 16. A 17.C

8

. 18.9 19.4/3 20.2./13 21.3

< 22.ERR R IE X E B AR

. a . b . c
sinA —Z—I—e-,smB —ﬁ,smc =R

S BRI AR B

1 1
4—R;(a +b+c)a —|—b—c)=4RZ « 3ab

BlCa +06)* —c? =3ab
Sal bt —ct=ab
Lat bt — ¢t _l

2ab 2
— 187 —




Bl cosC :%,C =60°

SA+B=120°
23, BB VLN U g » Fh L 4 1 T A5 7 R4
qu-+mq:2+J§ D
e g —arg— )
a,q a;q —a,
M@ R f—qu%%q=H1§
BT a, > 0,8 ¢ BUF S
El]q=1+2£ ©)
QO XA O KB a, X Eﬁz a1X(1J;J§)=2+J§

ﬁgﬁg (ll:l.
OB 2 aw*1+f&1

24, ﬁ:&%%ﬁ@m&ﬁx,mﬂﬁﬁ—<35 z),HH y ﬁy——x(35—1)(o<x

, 35 . 35
Ly :—2~~1=o§cx:7 i,o<x< lﬁy>o

%<x<18m‘,y/<o

. :?’2—5 BF oy BOME 1 B H 85 1.

RS K N 17, 5m B, AR A OK.
25. %% 1% P.Q BIAARA B R (21 sy ) s (Xgsys).
BT OP FREEELKRER 1, 2, =y,
N.0Q 1 OP,Jill OQ FifE AL MALE R — 1, AT »

Ly =" V2 P
o P.Q #RAEMGE L. ol

2 2

18)

X ; i h
F+:;\/_Z:1,l:1’2 !/ ’
, 3 61
Rkl o= £2=1,2

i

2432
NS

T= |OP |=l0Q |=V2 | z; |=

— 188 —



F OP | 0Q.Fibl APOQ MEH | OP || 0Q |=-*

6+ A%
AR5 7] 75

6A 342

R o8
Bp N — 420+ 6=0
s A=342 B A=42
B MG A AR e o B B AT 0 << A <6 Ik A=42
TR %M B A L BE N 2./6— 2% =4

— 189 —




